Drawing  \/SSP806030 v

Model

ISO 13920-BG WELDINGS
WELDED CONSTRUCTIONS

DIN 6930-C STAMPED STEEL PARTS

FLAT SURFACES / BENDINGS

ISO 2768-C GENERAL TOLERANCES
LINEAR AND ANGULAR DIMENSIONS

2 3 4 5 6 7 8
ID Description Date By Appr.
A 1 23.7.18 PLe
Ve D
800
- 860
855
797 opening 300
400 L 3 840
X T X
1|_________________::__::::*=:==____________ _______ ' '
] % T 2 — I
] I
| | :i
Y ! : ! Y
|: ‘ ': (@)
i ‘ ! £
] ! ]
g t_.L SE: 332 | L 3
© ! ! ol © ©| 0|0 Te1RYs)
I | I ~
]
T i | i @
b | . |
(ap] |I II o
:i | : °
. N A | vy iy PR o] o1 ¢y
e <~ f ________________ ') e
‘ ) 77
o) |
§ 27.5 :
—
X
5 PPE19223 Mounting Plate V8060 1 0
780 4 |RST12123 Lid VSS8060 1 0
AY 760 3 |PLF33 DIN912 M6x20 A4 hex socket screw 8 0
2 PUA84 DIN125 M6 A4 Washer 8 0
[ 1 RST12024 Base VSSP806030 1 0
Part Code Description Pcs \[/g]e/gc':
Surf: Weight
M8x25 T?eair(;?ent: Color: - %L} 26000
weld stud Material: ~ Stainless steel Casemet Material:
L Replaces:
. M6x15 CASEMET g0
ﬁweld stud Casemet Oy Enclosure VSSP806030 Replaced
50 v
M6x12 Scale pate  |23.7.18 o A
weld stud 9:100 By Ple et Cubo v
A3 Checked
Sreeto: 1 (1) ol oo VSSP806030

Copyright Casemet. Unauthorized use and distribution of this document is strictly prohibited.




	Sheet 1
	Views
	new_view_1
	bottom_2
	right_3
	top_4
	left_5
	left_7



